Algebra 2 
Unit 10, Day 1:  PM–3 Worksheet

Rochambeaux – “_______________ - _______________ - _______________”

Part 1:  Two Players
	Player A’s Name: _________________________


	Player B’s Name: _________________________


Directions:  Player A wins if both players match, while player B wins if they do not match.  

Play “Rochambeaux” 18 times and record who wins, A or B.

	1. ____
	4. ____
	7. ____
	10. ____
	13. ____
	16. ____

	2. ____
	5. ____
	8. ____
	11. ____
	14. ____
	17. ____

	3. ____
	6. ____
	9. ____
	12. ____
	15. ____
	18. ____

	The number A wins:  _________


	The number B wins:  _________


What happened?  These are called _____________________ Probabilities because they are what was experienced.  

_____________________ Probabilities – what we ________________ to happen.

AREA MODEL:  An area model shows all the ________________ possibilities in an organized form









      # of possible outcomes: _________


# of matches (A wins): ________


# of no matches (B wins): ________

Recall the formula for probabilities:

P (_______) = _____________________________

P (A wins) = _______


P (B wins) = _______

____________  ___________ - the amount we would ___________ to win or lose on __________ if we played the game ________ times.  

Based on the __________________ probabilities, for 18 trials, the ______________  ____________ for:

# A wins = ____________


# B wins = ____________

TREE DIAGRAMS - used to determine the probability of _______________ outcomes from all the ____________ outcomes.  










There are ______ pathways to the end, so there are ______ outcomes.  

Write “A” at the end of each path where A wins.  Put “B” at the end of each path where B wins.


Since all paths (for this scenario) are equally ____________, then 

Part 2:  Three Players
	Player A’s Name: ____________


	Player B’s Name: ____________


	Player C’s Name: ____________




Directions:  Player A wins if ____________________ match, player B wins if ____________________ match, and player C wins if ____________________ match.

Play “Rochambeaux” 27 times and record who wins, A, B, or C.
	1. ____
	6. ____
	11. ____
	16. ____
	21. ____
	26. ____

	2. ____
	7. ____
	12. ____
	17. ____
	22. ____
	27. ____

	3. ____
	8. ____
	13. ____
	18. ____
	23. ____
	

	4. ____
	9. ____
	14. ____
	19. ____
	24. ____
	

	5. ____
	10. ____
	15. ____
	20. ____
	25. ____
	


Based on these 27 trials, the _______________________ probabilities are:

	P(A wins) = ________


	P(B wins) = ________


	P(C wins) = ________




On a separate sheet of paper, make a tree diagram or an organized list to find the __________________ probabilities for each player winning.  

Tree Diagrams Practice
Make a tree diagram for each problem.  Be sure to completely label all details.

1.  Yvonne decided to eat healthier this year, so she bought fruit at her local grocery store.  She bought 5 apples – 3 red and 2 green – and placed them in a bowl on her kitchen counter.  In a 2nd bowl bowl, she placed the 5 oranges she also bought:  2 Navel, 2 Valencia and 1 Moro orange.  For lunch, Yvonne plans to choose one 1 apple and 1 orange.  Make a tree diagram illustrating Yvonne choosing 1 apple then choosing 1 orange.  Use the basic outline below to help you make a tree.  The “R” represents “red apple” and the “N” represents “Navel orange.”  Be sure to make more branches below in the 2nd tier.  Include all labels.


     Apples (
                              R


_________ (
                  N

How many possible ways can Yvonne choose an apple and orange? _____________

2.  Every morning Blake dresses himself in the dark.  (School just starts way too early!)  He randomly selects a t-shirt and a pair of pants from his closet.  He owns 2 red, 1 yellow, and 3 white shirts.  He also has 3 blue jeans and 1 pair of tan pants.  Make a tree diagram illustrating Blake choosing 1 t-shirt then choosing 1 pair of pants.  Be sure to label all branches.

___________ (
___________ (
How many possible ways can Blake choose a t-shirt and pair of pants? _____________

Name: __________________________


Date: ______________ Period: ______





PLAYER   A





�
�
�
�
�
�
�
�
�
�
�
�






PLAYER 





B





PLAYER   A  (





PLAYER   B  (





P(A wins) = ________





P(B wins) = ________
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